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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol UL,
List out TCL and DCL commands.

TCL ¥l DCL sMisell alEl vlatldl.

Define concurrency control. How to control concurrency?
Concurrency controle{l caltuil L. Concurrency <l 2la control &a?
Write general syntax of Revoke command.

Revoke sHiSo{l general syntax GAul.

State the importance of Anchored data type.

Anchored data type o{l WolcAcll AHs1l.

Write general syntax of for loop used in PL/SQL.

PL/SQLHL cURLdll for Ioopcrﬂ general syntax GAull.

List out different attributes of implicit cursor.

Implicit cursoreil (@Qlau attributese{l 2L€l oot

Draw functional dependency diagram for following:
{cid,ano} -- > {access_date,balance,bname}

o{lAatlall functional dependency diagram €131

{cid,ano} -- > {access_date,balance,bname}
List out any four armstrong’s aximos rules.

Armstrong’s aximoseil Sl&URL UR (Aol 2El wetlall.
Draw state transition diagram of a transaction.

Transactionall state transition diagram €\2\.

Differentiate between shared lock and exclusive lock.

Shared lock e exclusive lock LA dslald UL

Explain Grant command.
) Grant HIS ¥

OR
Explain importance of savepoint with Rollback command.

) Rollback sHiS ul&e{l savepoint oll WOlRLAL UL
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Explain Unique index with example.
Unique index GEL&RQL UGt UM sl

OR
Create following sequence
50454035....15045 ...

o{lAe{l sequence wollal

50454035 ....15045 ...
Explain explicit lock with example.

Explicit lock BELs1L UG AHtA.

OR
What is View? Explain how View can be applied on single base table.

View 2@ 9)? As% A3 2t UR View 3cl dla auo) 531 asia A

IRILIEN

Write difference between SQL and PL/SQL.

SQL Aol PL/SQL cAall dglald Al
OR

Describe PL/SQL generic block.
PL/SQLaAl generic block c@lcll.

Write difference between procedure and function.
Procedure 24a\ function clAall dglald AWl

OR
Write advantages of procedure and function.

Procedure Ao\ functione{l ULl AWM.
Explain structure of a package.
Packages] HLOWW] UM,

OR
Explain types of a trigger.

Triggeretl UstA AHstal.
Explain various steps to manage explicit cursor.
Explicit cursoral Real% s2cllell (A(Qu wateflaw sl

OR
Explain parameterized cursor with example.

Parameterized cursor GEL&WL UB A Ul

Write PL/SQL program to read account numbers for two different accounts.

Find the highest balance from these two accounts, and display it along with
its account number.

A UL WAL AsLGeHIl AsLGe ololR iUl HIZall PL/SQL
YWOLH cllotlall. 3l A AsiGeHll Hg A A AR A As1Ge
alotRe{l WA wclLal.
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OR
Insert a record in Account table. If branch name is other than ‘vvn’, ‘ksad’ or
‘anand’, raise and handle user-defined exception.

Account 2HAHL 2818 GHRL. %l olidUg] ollH ‘vvn’, ‘ksad’ 3 ‘anand’
Rclais] 8o Al user-defined exceptional raise 531 Aol handle 3.

Explain INF with example.
INF GELSWQL ARt UHos A

OR
Explain 2NF with example.

2NF GELSWL UBA A
Explain lossy and lossless decomposition.
Lossy al lossless decomposition AHstcll.

OR
List problems of concurrency control and explain any one.

Concurrency controleil WoAMe{l ALEl clallcl Slugl As MLl

Remove any redundant FD’s from following set.
A -->BC, B-->C, A-->B, AB-->C, AC-->D

oAl AeHiell redundant FD’s sLaL.
A -->BC, B--> C, A--> B, AB-->C, AC-->D

Explain ACID property of a transaction.

Transactione{l ACID W&l Al

Create a trigger that prevents user of account table on Sunday.

Account tablestl el AR 2ecell GUAL scll Ascll Hizell

trigger Gotlcll.

Explain Full Function Dependency with example.
Full Function Dependency GEL&0L Ut UHsLal.
What is Deadlock? Explain with example.

Deadlock 9 8?7 GEl&0L ARl AMA.
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